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CHEMISTRY (Theory)
RefRa aa - 3 gque Serhad 3% : 70
Time allowed : 3 hours Maximum Marks : 70
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General Instructions :
(i)  All questions are compulsory.
(ii)  Section A : Q. no. 1 to 5 are very short-answer questions and carry 1 mark each.
(iii) Section B : Q. no. 6 to 12 are short-answer questions and carry 2 marks each.

(iv) Section C : Q. no. 13 to 24 are also short-answer questions and carry 3 marks

each.
(v)  Section D : Q. no. 25 to 27 are long answer questions and carry 5 marks each.

(vi) There is no overall choice. However, an internal choice has been provided in two
questions of one mark, two questions of two marks, four questions of three marks
and all the three questions of five marks weightage. You have to attempt only one

of the choices in such questions.

vii) Use log tables if necessary. Use of calculators is not allowed.

T A
SECTION : A
1. NaCl 3R AgC/H & ®F 1 et &N arial & 3T ? 1
Out of NaC/ and AgC/, which one shows Frenkel defect and why ?

2. frafafga 1 3 FeHThl % 9gd e § sHafed Hifsu : 1
(CH;);N, C,H,OH, C,H,NH,
Arrange the following in increasing order of boiling points :

(CH,);N, C,H,OH, C,H,NH,

3. ISl TSR H 3w 3tfereh FTERITed) @ Bt § 7 1
YT
SO (UTE) 3T S | 1 ST R 7
Why are medicines more effective in colloidal state ?

OR

What is difference between an emulsion and a gel ?

Class X1l Science www.esaral.com 2
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4. Ueh 330 Higd 39ed! Arfirsntr) <Y aivarst fafia | 1

Define ambidient nucleophile with an example.

5. TohIE 3R WIS W HifoTeh ETEHTCH Tl 91 8 7 1
AYST
AFEH o STt ITTEEH % Y= UTH IS i [ARGT |
What is the basic structural difference between glucose and fructose ?

OR

Write the products obtained after hydrolysis of lactose.

T : §
SECTION : B
6. TrmaferRaa wsrut 3 fete dgfora vamafes axfieton foafen - 2
(i) XeF, ¥ Aqafed ga1 e |
(i) MnO, I |15 HC! 3 F1¢ TR feha STa 2 |
CLE]
frafaRaa T T i 3 o % STER Safem Hif :
(i) H,0,H,S, H,Se, H,Te — 3T Yehfd o o1& 8
(i) HF, HC/, HBr, HI — 3TEY T & Ted hH H
Write balanced chemical equations for the following processes :

(i)  XeF, undergoes hydrolysis.
(i) MnO, is heated with conc. HCL

OR
Arrange the following in order of property indicated for each set :
(1 H,0, H,S, H,Se, H,Te - increasing acidic character

(i) HF, HC/, HBr, HI — decreasing bond enthalpy

Class X1l Science www.esaral.com 3
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7. ISR 3TaFEt Ot faered o fou U8ee o fam <1 gitfya hifse | asft arsarst =
T3 o T\ ! 9o 1 a1t forera <61 < farfereand fafaw | 2

State Raoult’s law for a solution containing volatile components. Write two
characteristics of the solution which obeys Raoult’s law at all concentrations.

8.  afuferan 2

2H,0, ——>2H 0+0,

™ ATy
% feru s feranfafyr i < g s1qam 2 -
(1) H,0,+T — H,0+10 (9<)
(2) H,0,+10" > H,0+1 + 0, (dTsl)
(i)  Afufsran o fore o frem fefam |
(i)  rfaferan 61 et wife foafaw |
(i) 9g (1) 3R (2) T & 9 91 U T (Ieries ug & 2
For a reaction

-

2H,0, —2H,0 + 0O,
alkaline medium

the proposed mechanism is as given below :
(1) H,0,+I = H,0+I0" (slow)

(2) H,0,+10" - H,0+1I + 0O, (fast)
(i)  Write rate law for the reaction.

(i1)  Write the overall order of reaction.
(iii) Out of steps (1) and (2), which one is rate determining step ?

9. S MnO, %I KOH TdT KNO, S8 H{e{ehieh o T1e Tferd fohaT ST & df e &L 1
=1 AfTH (A) I BT & | 3Tl foera § Aifiess (A) STqauraTiaa greRt st T 6
At (B) a1 8 | Afires (B) 1 &g faer=m K1 =t ik (C) # safefieha & <at 2
SfeifeR TR (B) w1 Tteha fae@q KI Wl (D) | efiha s cai & | (A), (B), (C)
3 (D) ! v I | 2

When MnO, is fused with KOH in the presence of KNO; as an oxidizing agent, it

gives a dark green compound (A). Compound (A) disproportionates in acidic solution
to give purple compound (B). An alkaline solution of compound (B) oxidises KI to
compound (C) whereas an acidified solution of compound (B) oxidises KI to (D).
Identify (A), (B), (C), and (D).

Class X1l Science www.esaral.com 4
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10. ®FA [Pt(en),Cl,] FT TUPAC I Ay | 36 @ o SATHAT Fom@@@i i @

JmRaa HifT | 2
YT

IUPAC HTEUE] %1 I ohtd gU fmferRad & ¥ ferflaw :

(i) EFENEESETeS (111) Tethe

(i) efEm grgATaAedshEe(11D)

Write [IUPAC name of the complex [Pt(en),C/,]. Draw structures of geometrical

isomers for this complex.
OR

Using [UPAC norms write the formulae for the following :

(i) Hexaamminecobalt(IIl) sulphate
(ii)) Potassium trioxalatochromate(III)

1. [CoF > 3R [Co(en),]*" H & HH €1 ¥FeA & ? 2
(i) IR
(i) Aferep wrh
(iii) ST HeTh HpeT 3T
(iv) 3o J=RYT THA
(Co T TXHTY] SHHT = 27)
Out of [C0F6]37 and [Co(en)3]3+, which one complex is

(i) paramagnetic

(i1) more stable

(iii) inner orbital complex and
(iv) high spin complex
(Atomic no. of Co =27)

12.  Fr=fafaa g sfufpansi @ diffent A it B i wwed fafe - 2
CH,CH,4
" KMnO,~KOH ,  H,0"
OH
) CrO; , H,N-NH-CONH,

Class X1l Science www.esaral.com 5
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Write structures of compounds A and B in each of the following reactions :

CH,CH,
) KMnO,— KOH A H;0" B
OH
(ii) CrO; A H,N-NH-CONH, B
K IR
SECTION : C

13. <ifem 1 wdqg W NH, &1 e 3 Hife 6t aAfufsmen 7 | afg sa sAfuimen =1 am
fRRI® (k) 4 x 107 Ms™! &, @ NH, I TRIEHE Figar 0.1 M § T2t 0.064 M B §
fopa ww @ 7 3
The decomposition of NH, on platinum surface is zero order reaction. If rate constant (k)

is 4 x 107 Ms™!, how long will it take to reduce the initial concentration of NH; from
0.1 M to 0.064 M.

14. (i) 5ok ¥ afehRa amesre i gfieer 2 2
(ii) FeCly

NaOH
fae=m

o= | & i faf g0 weh wIeATeE Gfa SR T | 9! § o9 St Bites
SATFATIES HIATSS! HUT o HUL AT A B ? T Tl bl (H&(Ud fhaT AT 8 ?

(iii) AT = 1 N fohd TehR aRafdd grar @ 2 3

Class X1l Science www.esaral.com 6
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(i) What s the role of activated charcoal in gas mask ?

(i) A colloidal sol is prepared by the given method in figure. What is the charge on
hydrated ferric oxide colloidal particles formed in the test tube ? How is the sol

represented ?

FeCly
Solution

Solution

(iii) How does chemisorption vary with temperature ?

15. 15 T Heleh shisd T4 (foc) T ATel STtk § fsheeefiehd BiaT & f&h SR &
TS 300 pm 2 | < BT T 10.8 g em™ 2 | AT it o 108 g a7 T qammy
g1 3
An element crystallizes in fcc lattice with a cell edge of 300 pm. The density of the

element is 10.8 g cm ™. Calculate the number of atoms in 108 g of the element.

16. S T gohiF (M = 342 g mol ™) & 4% foerm (wfeera gemm™ wiw) &1 fgdies 271.15 K
R | STt 8 To[hIE (M = 180 g mol ™) % 5% ferera o1 femies uftenfera i | 3

(fea & - 35 5 =1 T = 27315 K)

A 4% solution(w/w) of sucrose (M = 342 g mol™!) in water has a freezing point of

271.15 K. Calculate the freezing point of 5% glucose (M = 180 g mol ') in water.

(Given : Freezing point of pure water = 273.15 K)

Class X1l Science www.esaral.com 7
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17. (a) ufitsshaor fafer s 9 Samge S 3
(i) FYEaT Tl FrEETeTeh o T i o foTT e Biell € |
(i) | FEHTH STt ST ! T i & FoTT I &Il 2 |
(b) Cu,S | I o Feepuur § g areht Tt Tfufmana @i fafag |
(a) Name the method of refining which is
(i)  used to obtain semiconductor of high purity,

(ii) used to obtain low boiling metal.
(b)  Write chemical reactions taking place in the extraction of copper from Cu,S.

18. fr=ferReaa & forw shmor difre - 3
(i) HshHYT a7 3R 3 ATk IR hl WiTd I LA 7 |
(i) (Mn>"|Mn) % ToTC E° B =KvITereh 2T 8§ Safeh (Cu? |Cu) & foTe eHTensh |
(iii) VfFeATaE 39 Feieieh fo=amE | STFRIqand gurtd & |
Give reasons for the following :
(i)  Transition elements and their compounds act as catalysts.
(ii)  E° value for (Mn?*|Mn) is negative whereas for (Cu®*|Cu) is positive.
(iii)) Actinoids show irregularities in their electronic configuration.

19. f=fafad sgersht 1 ST S & foTe g Tehetent st T fafew - 3
(i) HEAM-6,6
(i) fromes
(i) =T-S
SreEr
CH,

|
(i) @@L CH,-CH ], T GHagas & I Heagersh ¢ ¢ R ST |

(i) frfefaa sgete & Tehere forfam :
HN\(N \"/NH - CH,
N N
Y

II\IH

(iii) TE o Toohe 10T H HeHL Shi AT fehT & 2

n

Class X1l Science www.esaral.com 8
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Write the structures of monomers used for getting the following polymers :
(i) Nylon-6,6
(i) Glyptal
(iii) Buna-S
OR

CH,
(i) Is{ CH,-CH 1, a homopolymer or copolymer ? Give reason.

(ii))  Write the monomers of the following polymer :
HN\(N \"/NH - CH,
NYN

II\IH

(iii) What is the role of Sulphur in vulcanization of rubber ?

n

20. (i) ik i o fore v o sfiwy 3T gl @ 2 3
(i) TR H fohE YR 1 STIHTSISh T BIT © 2
(i) UfeTeH 1 ITART HET YT o FI H SR FA1 A [haT ST & 2
e
3tera 3eret Afga Fmferiaa ugh sl ituiya it :
(i) foreqa-werem wfersfamy
(ii) et (femgpae)
(iii) &R TSR

(i) What type of drug is used in sleeping pills ?

(il) What type of detergents are used in toothpastes ?

(iii) Why the use of alitame as artificial sweetener is not recommended ?
OR

Define the following terms with a suitable example in each :

(i)  Broad-spectrum antibiotics

(ii) Disinfectants

(iii) Cationic detergents

Class X1l Science www.esaral.com 9
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21. (i)  (CH,);C-Br 3 (CH,),C-1H & M S 1 & ufd atfers sfufmmfa g sfewiic 3
(i) p-TEEARISA ! St NaOH % T1Y 443 K T T i o &G 3TcAIshd hid

T T Il 3T ol forfau |

(i) SIA-2-3TcA & TRV TR T YT F[uich THTSATIAT ! THTS STTEST GRT T
ST T hiSH BT & ?

(i)  Out of (CH;);C-Br and (CH,);C-I, which one is more reactive towards Sy1
and why ?

(ii)) Write the product formed when p-nitrochlorobenzene is heated with aqueous
NaOH at 443 K followed by acidification.

(iii) Why dextro and laevo — rotatory isomers of Butan-2-ol are difficult to separate
by fractional distillation ?

22. U WM AMfeh “A”, Br, 3 KOH % |19 T fohT S W C H,N 310E3 arer Aifies
‘B’ ST 8 W CHC/, 3R TehlRITeteh TICR BESIaTss o H1e TH i T g
ueref «C’ ST 8 | Aifeh A, B 3R C sl T=HTE 3T [UPAC =W faifiaw | 3

An aromatic compound ‘A’ on heating with Br, and KOH forms a compound ‘B’ of
molecular formula C,H,N which on reacting with CHC/; and alcoholic KOH

produces a foul smelling compound ‘C’. Write the structures and [UPAC names of
compounds A, B and C.

23. frefafaa sifufsrene =t gt Hifse - 3

0 @/ CHO  \aeN/HCY
—_—

(i) (C4H,CH,),Cd +2CH,COCIl —>
CH,
(i) Br, / AIT1 BIEHIE

|
(iii) CH;-CH-COOH —
(ii) H,O

Y

Freferfea srfwfsrenati o fore amertes aieton fetfa -

(i) M 31 ad Ba(OH), % |11 STfsRan i ST @ |

(i) THEEF T Zn(Hg)/AT5 HC/ % &1 31ffsham 1 <t 2 |

(iii) SIS FANTES T Pd/BaSO,, hl IUFRAT T FT3GISHIHL0T TR ST @ |

Class X1l Science www.esaral.com 10
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24.

Complete the following reactions :

0 ©/ CHO  NaoN/HC!

(ii) (C¢H,CH,),Cd + 2CH,COCI —>
CH

3
|
(i) CH;- CH - COOH

(i) Br, / Red P,_
(i) H,0 ’
OR

Write chemical equations for the following reactions :
(1)  Propanone is treated with dilute Ba(OH),.

(i1)  Acetophenone is treated with Zn(Hg)/Conc. HC/
(iii) Benzoyl chloride is hydrogenated in presence of Pd/BaSO,.

Frtafaa & = s FHifse
(i) Uftrelre iR UfierafeeT
(i) UeTES 94 3T TATZHEZS! 9Y
(i) WER WA 3R MiAHHR T
A
D- I et a ¥ fefafaa i sufeafa goi & foe gamate sififpamd
fofgu
(i) B @l
(i) Ul Ueehlad TYg
(iii) SHIETA G h &9 H TfeeeRs

Differentiate between the following :

(i) Amylose and Amylopectin

(i1)) Peptide linkage and Glycosidic linkage

(iii)) Fibrous proteins and Globular proteins
OR

Write chemical reactions to show that open structure of D-glucose contains the
following :

(i)  Straight chain
(i1)) Five alcohol groups
(iii)) Aldehyde as carbonyl group

Class X1l Science www.esaral.com
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HM: ¢
SECTION : D
25. @ E S AR % fT B0y 271 VR 5
Mg, + Cuz+(0.01 M) Mg2+(0.001 m) T CY
TfufsRaT % Y By, aRefera Shifg | fo=la 9T o g o6 o feTRae /@ o T
fordra smey favar 2
() 2.71 VEHH IR
(i) 2.71 V& At
AT
(a) FeSO, 3R ZnSO, forerd- 31veey & W Svfishd # ST g1 feorgga - 31oereft &t X
IR Y H 2 TR 1 Tmi foed -9 7« e JaTted shi T8 5§ qeh Fe % 2.8 ¢ ¥
X % hete W fafud gu | faga g fohas Tm de yafed 1 T8 ? 9 Y o hATS
W et zn < 9 ik fora SHifsu |
@WW :Fe =56 gmol™! Zn=65.3 gmol™), 1F = 96500 C mol™")
(b) TR ATARAT (n ) IR HHAT b A (c!/?) o == Ao ¥ a1 Fereggd - 31w A

3R B % foru freferfiaa =rsh oo ge
Am
A
B
c1/2 —_—>
forefafiaa o s difse

(i) Taga-sroeedi A 3R B i Wehfd i ITIRE HifT |
(i) Togd-TTaedl A 31K B i A5l 96 A I AR g F1dl & al A
g W BT 8 2

E°_ for the given redox reaction is 2.71 V
2+ 2+
Mg, + Cu™ 01y — > ME" g.001 ) T Cligg
Calculate E_g; for the reaction. Write the direction of flow of current when an

external opposite potential applied is
(i) lessthan2.71 V and
(il) greater than2.71 V
OR

Class X1l Science www.esaral.com 12
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(@) A steady current of 2 amperes was passed through two electrolytic cells X and
Y connected in series containing electrolytes FeSO, and ZnSO, until 2.8 g of

Fe deposited at the cathode of cell X. How long did the current flow ? Calculate
the mass of Zn deposited at the cathode of cell Y.

(Molar mass : Fe = 56 g mol™! Zn = 65.3 g mol!, 1F = 96500 C mol ™)

(b) In the plot of molar conductivity () vs square root of concentration ('),

following curves are obtained for two electrolytes A and B :

f

Am

Answer the following :

(i)  Predict the nature of electrolytes A and B.

(i) What happens on extrapolation of A to concentration approaching zero
for electrolytes A and B ?

26. (a) 3 F=forRaa wur=awor S & 2 5
() A H UEA
(ii) WISt =l TUT-2 -3 §
(b) Tr=afefaa srfufern i fepanfafy fofau -

H,SO
C,H,OH 274

(c) St <Y 31T HIHTe Setare (ARt ST 31feres JATETi | o <1 & ?
YT

CH, = CH, + H,0

(a) Tr=ferfaa & wror i
(i) p-TTSSIhIHTCT oh JTUETT o- TSI FTereh WIT TSIt BT & |

(i) t-IfecaiNgs, Aifsam BufaTss & Ty T S W -FReemiie 2R %
AR 2 - AU ST R |

(b) Tr=fafea @ wrg srfuframd forfeaw
()  TEm-Aua rfufsran
(i) WRIFTS T ThISet shTe Ufeshettentor
(c) TUIHTA 3 hiHTet H fasig w7 & o weet Tamates wdiemn s |

Class X1l Science www.esaral.com 13
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(a) How do you convert the following :
(i)  Phenol to Anisole
(ii) Ethanol to Propan-2-ol
(b)  Write mechanism of the following reaction :

H,S0
C,H.OH——2""% 5 CH,=CH, +H,0
2775 443 K 2 2 2

(c) Why phenol undergoes electrophilic substitution more easily than benzene ?
OR
(a) Account for the following :
(i)  o-nitrophenol is more steam volatile than p-nitrophenol.

(i) t-butyl chloride on heating with sodium methoxide gives
2-methylpropene instead of t-butylmethylether.

(b) Write the reaction involved in the following :
(i) Reimer-Tiemann reaction
(i) Friedal-Crafts Alkylation of Phenol
(¢) Give simple chemical test to distinguish between Ethanol and Phenol.

27. (a) Tr=fcRaa = o difsre 5

(i) a1 H Gt FTIrh I SITER S |
(ii)  P-P 3TTae T STET N-N T4 goied &1a 2 |
(iii) 3ATereIor <Al 3TUETT IS ST erehd: o Tl B |

(b) Scafsid g o1 ferftge e Cu 1 femn Srar &
(i) @9 HNO, | 3R
(i) |F%HNO, ¥

CLE

(a) () HyPO, i FTTEHIITA Ffshan faRa |
(i) XeF, 3 T TRREA HIRT |

(b) Tr=fefea = wro §fve
(i) T RIS 6 soidgH Afed T A H0MHS 8 T i F, T Toa

ST HI 2 |

(i) = 15 N,0, ¥ Bi,0, T 3T A& 5T ¢ |

(c) HoH SEATFEEE 18 & qhew & fou s wEmEte sttt fafae | awg
Tt Tt fafe |
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(a) Give reasons for the following :
(1)  Sulphur in vapour state shows paramagnetic behaviour.
(i) N-N bond is weaker than P-P bond.
(iii) Ozone is thermodynamically less stable than oxygen.
(b) Write the name of gas released when Cu is added to
(1)  dilute HNO; and

(i)  conc. HNO,
OR
(@) (i)  Write the disproportionation reaction of H;PO5.
(i) Draw the structure of XeF,,.

(b)  Account for the following :
(i)  Although Fluorine has less negative electron gain enthalpy yet F, is
strong oxidizing agent.

(i1)  Acidic character decreases from N,O; to Bi,O; in group 15.

(c) Write a chemical reaction to test sulphur dioxide gas. Write chemical equation
involved.
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Strictly Confidential: (For Internal and Restricted use only)
Senior School Certificate Examination
March 2019
Marking Scheme — CHEMISTRY (SUBJECT CODE: 043)
(PAPER CODE - 56-1-1)

General Instructions: -

1.

10.

You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious
problems which may affect the future of the candidates, education system and teaching
profession. To avoid mistakes, it is requested that before starting evaluation, you must
read and understand the spot evaluation guidelines carefully. Evaluation is a 10-12
days mission for all of us. Hence, it is necessary that you put in your best efforts
in this process.

Evaluation is to be done as per instructions provided in the Marking Scheme. It should
not be done according to one’s own interpretation or any other consideration. Marking
Scheme should be strictly adhered to and religiously followed. However, while
evaluating, answers which are based on latest information or knowledge and/or
are innovative, they may be assessed for their correctness otherwise and marks
be awarded to them.

The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. The remaining answer books meant for
evaluation shall be given only after ensuring that there is no significant variation in the
marking of individual evaluators.

If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totaled up and written in the
left-hand margin and encircled.

If a question does not have any parts, marks must be awarded in the left hand margin
and encircled.

If a student has attempted an extra question, answer of the question deserving more
marks should be retained and the other answer scored out.

No marks to be deducted for the cumulative effect of an error. It should be penalized
only once.

A full scale of marks 0-70 has to be used. Please do not hesitate to award full marks if

the answer deserves it. ) ) i )
Every examiner has to necessarily do evaluation work for full working hours i.e. 8 hours

every day and evaluate 25 answer books per day.

Ensure that you do not make the following common types of errors committed by the

Examiner in the past:-

e Leaving answer or part thereof unassessed in an answer book.

Giving more marks for an answer than assigned to it.

Wrong transfer of marks from the inside pages of the answer book to the title page.

Wrong question wise totaling on the title page.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark

is correctly and clearly indicated. It should merely be a line. Same is with the X for

incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks
awarded.
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11.

12.

13.

14.

15.

While evaluating the answer books if the answer is found to be totally incorrect, it should
be marked as (X) and awarded zero (0) Marks.

Any unassessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all
concerned, it is again reiterated that the instructions be followed meticulously and
judiciously.

The Examiners should acquaint themselves with the guidelines given in the Guidelines
for spot Evaluation before starting the actual evaluation.

Every Examiner shall also ensure that all the answers are evaluated, marks carried over
to the title page, correctly totaled and written in figures and words.

The Board permits candidates to obtain photocopy of the Answer Book on request in an
RTI application and also separately as a part of the re-evaluation process on payment of
the processing charges.

Class X1l Science www.esaral.com 2



https://amzn.to/3OwEosm
https://www.esaral.com/seo-pdf-android
https://www.esaral.com/seo-pdf-ios
https://www.esaral.com/seo-pdf-android
https://www.esaral.com/seo-pdf-ios
https://www.esaral.com/seo-pdf-android
https://www.esaral.com/seo-pdf-ios
User
Rectangle


¥Saral

JEE | NEET | CLASS 8 - 10 Download eSaral APP [

Marking scheme — 2019
CHEMISTRY (043)/ CLASS XIlI

56/1/1
Q.No Value Points Marks
SECTION A
1 AgCl, Due to large difference in their size/ Due to small size of Ag” ion. Y%,V
2 (CH3)sN < C,HsNH, < C,HsOH 1
3 Due to large surface area these are easily assimilated or adsorbed. 1
OR
3 Emulsion — both dispersed phase and dispersion medium are liquid 1
Gel- Dispersed phase is liquid while dispersion medium is solid
4 Nucleophiles having two nucleophilic centres. CN™ /SCN / NO, (any one) Y%,V
5 Glucose has aldehydic group while fructose has ketonic group/ Glucose is aldose while fructose is 1
ketose.
OR
5 Glucose and Galactose 1
SECTION B
6 i 2¥eF, (s) + 2H,0() — 2Xe (g) + 4 HF(ag) + Oy(g) 1
i) ‘MnO; + 4HC1 — MnCl, + Clz + 2H;0 1
OR
6 i) H,O < H,S <H,Se <H,Te 1
ii) HF> HCl > HBr > HI 1
7 For a solution of volatile liquids, the partial vapour pressure of each component of the solution 1
is directly proportional to its mole fraction present in solution.
(i) Baet = 0. (jj) BV = O (5ii) The components have nearly same intermolecular force of %, Ve
attraction (any two)
8 i) Rate =k [H,0,] [I] 1
ii) order =2 %
iii) Step 1 %
9 A =K,MnO, / MnO,> , B=KMnO,/MnO,” , C=10;5 or KlOs, D=1, 72 x4
10. Bis(ethan-1,2-diamine)dichloridoplatinum (I1) 1
~ Tl/,cl c
O N ey
Lﬂ 1\ ;
en cl 2,7
Cis Trans
OR
10. i) [Co(NH3)6]2(SO4)s 1
ii)K3[Cr(ox)s] 1
11 i) [CoFe™ % x4
ii)[Co(en)s]*"
i) [Co(en23]3+
iv) [CoFe]™

Class X1l Science www.esaral.com
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12 ©/COC'K @,c:omz % x4
i) A= B=
(8] (o]
o ™
i) A= B=
SECTION C
13 t= [R10 —[R]¢
k 1
_ [0.1-0.064] 1
4x 1073
=90s 1
14 i) Adsorption of toxic gases 1
ii) Negative charge ; Fe20axHO/OH" Ve,V
i) Increases with increase in temperature/ First increases then decreases 1
15 = af’; : m=Mass of element , N=number of atoms 1
N = 108X4
10.8X27X10™* 1
= 1.48 X 10** atoms
Or !
_ a3 x Ny xd v
Z 4 23 1
27 x 10724 x6.022 x 1023 x10.8
4
= 43.88 g mol * %
43.88 g mol * contains 6.02 x 1023 atoms
So, 108 g contains = 222% 122;; 198 - 1.48x10%* atoms 1
16 AT;=Kim %
Kf = ATf X MZX W,
w; x1000
=2x 342 x 96
4x1000
= 16.4K 1
AT =Ks m’
= Kiw, x1000
M,x wy
=16.4 x5 x 1000
95x180 1
= 48K
ATe=T¢- Ty
4.8=273.15-T; y
Ti= 268.35K
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17 a) i)Zone refining ii)I_DistiIIation Y, %
b) 2CUaS + 30; — 2CW,0 + 250, 1
2Cu,0 + Cu,S = 6Cu + SO, 1
18 i) Due to variable oxidation state 1
ii)lMn?* is stable due to exactly half filled 3d° configuration/ Due to high AaH® and low AhydH%or
Cu®" / Cuis positive. 1
iii) Due to comparable energies of 5f , 6d and 7s orbitals. 1
19. j) HOOC(CH,),COOH H,N (CH,), NH, 1x3
)
o]
o]
&)
1
HOOGC
i) HO-CH,-CH,-OH , <
CH = CH,
i) CH,=CH-CH =CH,
OR
19 i) Homopolymers , single repeating unit %, %
H,N \IJ\I\H/\ I,
N. N
A 1
i) NI, , HCHO (Or names of monomers)
iii) Sulphur forms cross links at the reactive sites of double bonds and thus the rubber gets 1
stiffened / To improve the physical properties of rubber by forming cross links.
20. i) Tranquilizers 1
ii) Anionic detergents 1
iii) It is difficult to control the sweetness. 1
OR
20. i) Antibiotics which kill or inhibit a wide range of Gram-positive and Gram-negative bacteria. Y%, %
Example- Chloramphenicol (or any other)
ii) The chemicals which either kill or prevent the growth of microorganisms when applied to %, %
inanimate objects such as floors, drainage system, instruments, etc.Example — 1% Phenol
solution (or any other)
iii) Cationic detergents are quarternary ammonium salts of amines with acetates, chlorides or v v
bromides as anions where Cationic part is involved in cleansing action. Example — A
Cetyltrimethylammonium bromide (Or any other)
21 i) (CH3)sC-1, Due to large size of iodine / better leaving group / Due to lower electronegativity. Y, %
Ol OH 1
(i) NaOH, 443K
(1) HY
iy Mo NO:
iii) Because enantiomers have same boiling points / same physical properties. 1
22 CONH, NH, NC % %6
A= Benzamide, B= Aniline , C= Phenylisocyanide / Benzeneisonitrile
23 i) CeHs-CH(OH)-CN 1
II) 2 CH3COCHQCGH5 + CdC|2 1
iii) (CH3)2-C(Br)COOH 1
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OR
23 CH, CH, 1
BalOH), | A |
2CH,-CO-CH, =——= CH,—(lj—CH,CO—CH,_I_L—Oh CH,-C=CH-CO-CH,
Propanone OH 4-Methylpent-3-en-2-one
I) Watnll AlAA] enndensstion
7 CH,CH,
Zn-11
e s O 1
i)
o]
! CHO .
~a H, N
Pd - BaS0O,
iii)

24 i) Amylose is water soluble component while amylopectin is water insoluble 1
i) Peptide linkage is —-CONH- formed between two amino acids while glycosidic linkage is an
oxide linkage between two monosaccharides. 1
iii) In fibrous protein ,the polypeptide chains run parallel while in globular , the chains of 1
polypeptides coil around to give a spherical shape

(or any other correct difference.)
OR
24 (l;HD
lfliHOI'lh _HL A, CH,-CH,~CH,-CH,-CH,-CH, .
_ CH,0H
i)
(I:H 0 Ll,l 10 nl:l}
(CHOH), -Acetic anhydride . (CH-O < CH.),
I | 1
Il
il CH,OH CH,-0-C—CH,
CHO (I.‘DDH
|
(CHOH), EBravater, rn:I:HoHL .
|
iy CH,OH CH,OH
SECTION D
25 Ecenn = E° celi- 0.059 IOgEQ 1
n
= E% - 0.059 log10° 1
2 107
=2.71+ 0.0295 1
Ecel =2.7395V
i)Cu to Mg / Cathode to anode / Same direction 1
ii)Mg to Cu / Anode to cathode / Opposite direction 1
OR
25 (a) m= zlt e
_ 56 x2xt %
28g=; X96500 %
t=4825s/80.417 min
ml_EL %
m2  E2
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28 56, 2 1
mZn 2 653
m=3.265¢g 1
b) i)A- strong electrolyte , B-Weak electrolyte 1
ii)A°m for weak electrolytes cannot be obtained by extrapolation while A’°m for
strong electrolytes can be obtained as intercept.
26
O Na 0O - CH:=
©+NaE}H—r @ CH:-X @ !
a)i)
||) CHsCH,OH _P<CHeat O CHy-CHO  JCH3MeBr iF | CH,CH(OH)-CH; 1
(or any other correct method)
i Fast i
H-C-C-{-H+H* == H- ¢ n{:[ L M %
b) H H H H
B o BT
H-C=CEUH —= H-C-C"+ H,0
N H H H %
H H
o H H
H-C: C' == /C-C\ + H
e H H 1
c) Due to involvement of lone pair of oxygen in delocalisation makes the benzene ring electron 1
rich.
OR
26 a) i) o-Nitrophenol is steam volatile due to intramolecular hydrogen bonding while p-nitrophenol | 1
is less volatile due to intermolecular hydrogen bonding.
i) Due to the formation of stable intermediate tertiary carbocation / CH3O™ being a strong base | 1
favours elimination reaction.
OH O Na* OH
@ CHCL, + ag NaOH @“m e @’“ 10 1
b) i)
ii) (Award 1 mark if attempted in any way) 1
c) Add neutral FeCl; to both the compounds, phenol will give violet colouration while ethanol does 1
not.
27 a) i) In vapour state sulphur partly exists as Sz molecule which has two unpaired electrons like 1
0:.
i) Due to greater interelectronic repulsion 1
iii) Because decomposition of ozone into oxygen results in the liberation of heat (AH is
negative) and an increase in entropy (AS is positive), resulting in large negative Gibbs energy 1
change (AG) for its conversion into oxygen.
b) i) NO gas/ Nitric oxide
i) NO, gas / Nitrogen dioxide 11
OR
27 4H,PO, — 3H,PO, + PH, 1

a)i)
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ii)
b) i) Due to small size and low bond dissociation enthalpy

ii) As the size increases, electronegativity decreases / non-metallic character decreases
¢) 5S0, +2MnoO;, +2H,0 — 5507 + 4H' + 2Mn**
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